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General Instructions :

1.
2.

Answers of all questions are to be given in the Answer-Book given to you.
15 minute time has been allotted to read this Question Paper. The question paper will be distributed
at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question paper only and
will not write any answer on the Answer-Book during this period.
Candidate must write his/her Roll Number on the first page of the Question Paper.
Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.
For the objective-type of questions, you have to choose any one of the four alternatives given in the
question i.e. (A), (B), (C) and (D) and indicate your correct answer in the Answer-Book given to
you.
All the questions including objective-type questions are to be answered within the allotted time
and no separate time limit is fixed for answering objective-type questions.
Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.
Write your Question Paper Code No. 67/0OS/1-A on the Answer-Book.
(@) The Question Paper is in English/ Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in
the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours only.
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PSYCHOLOGY

LEUCEIE]

(222)

Time : 3 Hours | [ Maximum Marks : 100
| : 3 90 ] [ gutiek : 100

Note :
This question paper consists of 48 questions in all.
All questions are compulsory.

Marks are given against each question.

(i)
(i)
(i)
(iv)

iv) Section - A consists of :
(@) Q.No. 1 to 20 - Multiple Choice type Questions (MCQs) carrying 1 mark each. Select and
write the most appropriate option out of the four options given in each of these questions.
An internal choice has been provided in some of these questions. You have to attempt
only one of the given choices in such questions.
(b) Q.No. 21 to 32 - Objective type questions. Q.No. 21 to 29 carry 2 marks each (with 2 sub-
parts of 1 mark each). and Q.No. 30 to 32 carries 4 marks each (with 4 sub-parts of 1 mark
each) Attempt these questions as per the instructions given for each of the questions 21 - 32.
(v)  Section - B consists of :
(@) Q.No. 33 to 38 - Very Short Answer type questions carrying 2 marks each to be answered in
the range of 30 to 50 words.
(b) Q.No. 39 to 44 - Short Answer type questions carrying 3 marks each to be answered in the
range of 50 to 80 words.
() Q.No. 45 to 48 - Long Answer type questions carrying 5 marks each to be answered in the
range of 80 to 120 words.
ﬁé’?‘l‘ :
(i) =9 IA-TF H FoT 48 T T
(i) |t Te SrfamE ¥ |
(iii) I T o A 3T 3k feu M )
(iv) @US - H MEA T

(a)

(b)

Y9 HE&AT 1 W 20 T Tgfahedd TR & T & IR T 1 37 H1 g1 370 & T g9 § feu e
=R fashedl § | T8 U fohed o1 9oF & faa 81 378 9 9 U9 § ofiafes faeey feu e
T ofueh! T gl | feu T fasheul § 9 shaet ek fashed &1 & W foran g

U9 & 21 | 32 T (TS UHR & U § | UYT WE&AT 21 ¥ 29 Tk TS U9 2 3k & ©
(I 1 37 o 2 SY-AW o 1Y) R U9 WEAT 30 W 32 TF T U9 4 37 & € (TAF 1 3k
% 4 3U-9F W) | TeAE T 21 W 32 % o few e % oER 31 wee % S fed |

s - @ | wiEd € ¢

(a)

(b)

(©)

9 HEAT 33 W 38 Th 3110 og-ITIT YehR o ar-al 3ishi & T & | 7 T o IR 30 | 50 Ieaf
T fou 9 =feq |
9 AT 39 W 44 TF TSI TR & dF-<I 37kl & T &1 37 T91 & S 50 A 80 Isaf
T fou 9™ =fen |
9T WEAT 45 W 48 T <H-SIT YR & UTA-UTer {ehi o U9 & | 37 U941 o TR 80 | 120 sl
T fou 9 =feq |
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SECTION - A/ @UE - <h

1. (i) Thesekinds of health hazards such as epilepsy, memory disturbance, visual and auditory 1
impairments are due to :

(A) Crowding (B) Noise Pollution
(C) Water Pollution (D) Air Pollution
fafr= yopR 1 e gaes sS4 i, Wi aius, gfc td g geet faer
% HRU B B
(A) g (B) A Fgu
(C) NIt 9guv (D) oY 9quul
OR / 3eran
(i) Diseases like diarrhoea, intestinal worms and hepatitis are caused by :
(A) Crowding (B) Noise Pollution
(C) Water Pollution (D) Air Pollution
T, ATl H IS Td JUSTESH S i HROT E
(A) g (B) A Fgu
(C) SIcT 9guu (D) =g 9quu
2. (i)  This conflict has been referred as “mixed-blessing” conflicts because of the involvement 1
of multiple alternatives :
(A) Approach - approach (B) Avoidance - avoidance
(C) Approach - avoidance (D) Frustration
SgHE Iyl o SR 59 55 o ' T0fFd - TR’ g5 o e H Wi S@1 S T
(A) TEE - T (B) UER - 9fer
(C) ¥&E - UfER (D) T
OR / et
(i) This is an experiential state which may result from blocking of needs and motives :
(A) Approach - approach (B) Avoidance - avoidance
(C) Approach - avoidance (D) Frustration
IE T FANTICHe ST § Sl T1e3| TS STadehdisil &l gfd = 8 o qROMHEEEY 3c01 8rdl & ¢
(A) TXE - GE&E (B) URER - 9fEr
(C) ¥&E - UfER (D) T
3.  Language usage is influenced by : 1
A) age B ender
( 8 8
(©) cultural background (D) all
TS 3 AT O e Bl R
(A) SgH (B) fatmam
(C) WiEhias gy =i (D) Sulisk |t

[EIREE

67/0S/1-222-A ] 4 Z [ Contd..



4. (i) Identify the period when satisfactory heterosexual adjustments are facilited, career is 1
planned and philosophies of life are molded :

(A) Infancy (B) Adolescence (C©) Adulthood (D) Childhood
3T STIEAT Tl TEANT 576 HTToieh [aqHieT THTETSH GETed a7 <Ifed 8 o, e Sifoehl o
IS ST Sl & ST Sfter-ge 1 fafor g @ -
(A) e (B) Tememrereen (C) g (D)  SIeeeen
OR / 31eran
(i) Transition from Adolescence to adulthood depends upon :
(A) Individual characteristics (B) Environmental aids
(C) Individual’s experiences (D) Al
eIt o foe ieraen # gowr ST fohan o1 € 78 fs swar @

(A) A O W (B) U™ ¥ U< Wl T
(C) = STvaEl W (D) W Ift W
5. (i) Identify the process in which an internal representation of an object is formed : 1
(A) Sensation (B) Attention
(C) Perception (D) Recognition
39 Ufsha i wg=e s gR Uk o o1 3tiafeh gfafafere sHar @
(A) Hag (B) TaYN
(C) FH&fRIT (D) e
OR / 3eran

(i) Outof the following which is the ability to see three-dimensional space and to accurately
judge distances ?

(A) Perceptual grouping (B) Perceptual constancy
(C) Depth perception (D) Ilusions
Frfafed § 9 s g & fofa iR fHfara wom 1 e &1 9 e © 2
(A) FCAROICHE HHEIHTT (B) weaefulicHeh feereen
(C) TEUE YT (D) 9™
6. (1) This is referred as dynamic organization within the individual of those psychophysical 1
systems that determine his/her unique adjustment to the environment :
(A) Intelligence (B) Personality
(C) Interest (D) Aptitude
TH Woiel AR 1 37 AAlsfesh qonferdl & Tfasfiel e | € S ey § 36 S
TR W Eifa e g
A) dfs (B) eAfeRIce
(C) = (D) stfyefa
OR / 3eran

[EIREE

67/0S/1-222-A ] 5 Z [ Contd..



(i) Individual differences occur due to :

(A) Genetics (B) Environment
(C) Both (A) and (B) (D) Only media
Faforen fafvran % H Hfed B 7
ISEE R ED (B) fter
(C) =i (A) TH (B) (D) e Hifean
7.  Anger, apathy, social withdrawal and learned helplessness are the most likely responses of : 1
(A) Crowding (B) Air Pollution
(C) Noise Pollution (D) Water Pollution
e, S, TR T SR Helt g8 arenl J&id: 99d ¢ :
(A) g (B) T [T 0
(C) e yguor (D) STel U
8.  Features of effective communication includes : 1
(A) Ethical standards (B) Mutual interest
(C) National integration (D) Obligation
ECICIS LI RENEG K
(A) Hfdw AFEH (B) UM ¥
(C) TS Tt (D) <t
9.  Acceleration of growth during adolescent period is closely linked to the increased hormonal 1
output of :
(A) Sweat glands (B) Sebaceous gland
(C) Pituitary glands (D) Liver
fersirrareen # foerra =t diad & e arel g ot JEal 9 IS Bl © ¢
(A) TEHH I Uty (B) =& Uiy
(C) gt vify (D) R
10. (i) The minimum amount of physical energy needed to produce a sensory experience is 1
called :
(A) Absolute threshold (B) Differential threshold
(C) Frequency (D) Pitch
IR ot ol FAqH AT S Toh HAGH STIH hl 391 i § el g1 I8 @
(A) Ui SfergtA (B) R HIRTS
(©) 39 S (D) w&THHA
OR / et
EHE
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(i) This refers to the number of cycles a wave completes in a given amount of time :
(A) Absolute threshold (B) Differential threshold
(C) Frequency (D) Pitch
T He 3T TT wa # T T H = B e
(A)  qof ST (B) fawea srafm
(C) 39 d (D) *=@EHHA
11. This refers to the potential ability of an individual to perform a task, which consists of a 1
combination of abilities :
(A) Intelligence (B) Personality
(C) Interest (D) Aptitude
5 AT 1 T T F GHA AFIAT § S HHF: AR o A 9 o ©
(A) Ifs (B) wAfeicd
(C) wf= (D) efugfa
12. This process of organization includes human resources, capital, technology, material and 1
information :
(A) Inputs (B) Outputs
(C) Environments (D) Socialization
G ! I8 Uiehan e TETEM, qoil, TehHieh, Al 3R gerel % 9 § & Tehdl §
(A) fra (B) SuS
(C) TR (D) WMHTSITEhTOT
13. Identify the channels which involves the use of social distance between people : 1
(A) Kinesics (B) Gaze
(C) Proxemics (D) Haptics
T AF ! TEAH hifore FTad @ril o wed |ritieh g o1 W g g
(A) IRifeR Tfafafemr (B) @@ WME
(C) Wi-Thed (D) TR
14. (i) Gender identity is established at : 1
(A) 3to4 years (B) 5 to 6 years
(C) 7 to 8 years (D) 9 to 10 years
fefm we=r Tenfiq Bt &
(A) 3949 H (B) 5H6HAH
(C) 7989 H (D) 9910 9 H
OR / et
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(i) ‘Gender consistency’ is established at :

(A) 3to 4 years (B) 5 to 6 years
(C) 7 to 8 years (D) 9 to 10 years
* et feeran’ wenfoq Bt
(A) 3949 H (B) 5H6HAH
(C) 798w H (D) 9 ¥ 10 A |
15. (i)  This sub-system of organisation refers to the use of knowledge, facilities, equipment 1
etc. :
(A) Psychological (B) Structural
(C) Managerial (D) Technical
ST ot I8 ST JH, Glaensti, Sushivil geafs & JAnT i SR I9R I ¢
(A) TSR (B) HT=ATHSE
(C) YIuh (D) TehTeRT
OR / 3tgan

(i) This sub-system of organisation refers to the well defined tasks and integrated activities
in different units :

(A) Psychological (B) Structural
(C) Managerial (D) Technical
HiTed ot I8 Suaed faf— soedl § o7=s! qg 9 aReia it 3iR Wehied wifafafer ot
TR TR A T -
(A) AR (B) EETHS®
(C) eruhA (D) deheTent
16. (i)  Which of the following statement is not correct ? 1

(A) Communication is a continuous process.
(B) We can communicate through words.
(C) We can communicate through gestures.

(D) We cannot express through tones and expressions.

TTH ¥ HF W FHYT & TE § ?

(A) IO Tk R 9lRa ¥

(B) T VRl o BRI WU L T |

(C) T IifRer =rsersii & R TUTor HLd ¥ |

(D) H R el o AR qeEreil R U9 & L Tohd |
OR / et

)
)
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(i) Parents tell their children not to smoke and drink because it is unhealthy. This attitude
is formed through :

(A) Direct contact (B) Direct instruction
(C) Interaction with others (D) Observational learning
AT-Ta o797 = 1 S § foh YIS IR HedH wifens ©1 39 sifygha w1 fmio
_ HGEE@E
(A) Eenm Hush (B) Hren
(C) TEU & |y 3fa:foman (D) afomeHes 3P
17. Identify the factor of organizational climate which serves as the basis of interpersonal 1
relationship between supervisors, subordinates and co-workers :
(A) Organizational Structure (B) Technology
(C) External Environment (D) Management Policies and Practices

TS & IIdIER0] & 4R Tl Tg=u S 38 Gdaeres, AL 3R eahfHal o Aed Sadt el
T SR &1 © -

(A) HISHAH | (B) ekl
(C) dTRl wAteRo (D) Weleshi <fifaar iR e yomedt
18. (i) In an organisation when management uses threats and punishment to enforce orders. 1
Identify the leadership style here :
(A) Participative (B) Consultative
(C) Paternalistic (D) Authoritarian
TS H S YaEH STIRT ol U HTH & [T et R TS 1 TAF a1 €| 56 Aged Jelt b
REEUE
(A) Heurt (B) HAUIHR
(©) foggas (D) R
OR / et

(i) This leadership style involves two way communication between boss and subordinates :
(A) Participative (B) Consultative
(C) Paternalistic (D) Authoritarian
g Agca el AfHRT IR FH= & 7eA fgAnita amaard o gHfed wd ¢
(A) Heurit (B) HAUHR
(© foggas (D) &
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19. Through this process an individual employee acquires the knowledge and skills necessary 1
within the organisation :

(A) Superior - subordinate relationship

(B) Relationship with co-workers

(

©)
(D) Communication

59 TSR % B Teh HHEN! SEl % 37eX STTE M o foIq STrereres I SR SiRweli 1 Je0 HLdl © -
(A) AfYRRT - TR Haiy

(B) HEHHAl < WY Heaiy

(C) EISATcHe HHTSIAR]
(D)

Y9

Organisational socialization

D

20. This refers to preservation of the stocks of resources including environmental and exhaustible 1
resources :
(A) Sustainable development (B) Global warming
(C) Green house effect (D) Consumption

TR A GHIEAT o WUSR i gRa foed wienita sarem oiR qula: & fRd S et dared
A B -

(A) Tt o (B) yHeci A
(C) T B39 94 (D) 3UHM
21. Answer any two of the following : 1+1

(i)  Sukriti keeps organizing her cupboard whole day. Even the thought of somebody
missing it, keeps her anxious. Identify the disorder of Sukriti.

(i) Tanya is not able to remember anything from the past. This occurred after the sudden
demise of her husband in an accident. Identify the disorder in the case of Tanya.

(i) Give any two behavioural responses of stress.

(iv) Write any two emotional responses of stress.

fordl &1 1 S AT

()  Gopfa THL U STAHI i IRG3T I AT Ll WAl ¢ | his SAfK IHeh! A& hl Tl
M T 1 H S W FfAd A 1 G F ANTRR i TgEH B |

(i) N ST qd ST HAIS 1 AR w1 H 7w ¥ 1 ¥ feufa 39k afd % T gele | e %
e 3T §8 € | A1 o ¥ § HANGehR i JgdM hifelu |

(iti) T ol TRl < e@iiier gfdafsraneti o1 fafem
(iv) o i TRl QA et fdfshanedi =i fafa
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22.

23.

24.

25.

26.

i)  Define interest. 1+1
ii)  Give one example of interest test.

(

(

() ‘==’ g it

(i) &fa I T DS Th IS ST

Answer any two of the following : 2
(i) Non-verbal communication helps to allow self-presentation. True/False
(i) Haptics refers to and is a function of culture.

(iii) Effective communication can be achieved by talking fast. True/False
(iv) Advertisers make use of to make people buy certain products.

fen=di 3 1 S i

(i)  STHITG YT TH FEfahvl § T ¢ T/ 3

(i) ofesd Td HEHfd & H1 ol Seoifad 3l B |

(ili) SToR-SToal SRt TYHUT hl FHTE ST ST Hehdl € | e/ 3T
(iv) fo=rmoa s T JEANT 31T TGS Rl 9= A W )

Answer any two of the following : 2
(i)  What is cognitive development ?

(i) Identify the sub-stage of cognitive development when children can create mental images
of objects.

(iii) According to Piaget inability to see the world from someone else’s point is called

(iv) Centration means

fen=di <t =1 s ifa

(i) G faeRE w1 T ?

(i) TIICTR TR R IH 3U- T I TR FTEH e SRl ol AHHeh Ffdfeiel o1 o & |
(i) TSt &% STER fava =i fordt T Tk ¥ @A & st AT 7 |

(iv) TR 1 31 § |

(i)  The process of learning language is . (verbal learning/concept learning) 2

(ii) refers to the process of using earlier learning in a new situation.

(i) TS Sl EieH iR e B 1 (TNfedeh HRa)/ sTemfeash Sa)

(i) 36 Ffeha 1 ST ol © I8 9ot TRe T e o1 75 aRfefd § gam foan
S|

(i)  This property of psychological test ensures uniformity and objectivity. Identify the 2
property.
(i) Ability test measures capacity as potential. Suggest one ability test.

()  TAOS T I 0 THEIA TS SESSdT hl STVEE hadl § 1 39 07 i GgE |
(i) FaT % T ffed Wi 1 9199 A § | HIE Tk AT TR IR |

[EIREE

67/0S/1-222-A ] 11 Z [ Contd..



27. (i)  Write one purpose of job description. 2
(i) What is the outcome of right career decision ?
(i) < foeRT &1 FE TH ILTF TR
(i) e R % o & fe T aRom =i SR

28. Answer any two of the following : 2

(i) What is the average IQ level ?
(i) Concept of IQ is not meaningful beyond the age of 18 years. True/False
(iii) Write one positive influence of media on society.

(iv) People have unlimited capacity to receive and process information. True/False

fer=di St =1 ST it

() sired g wfsy frat St §2

(i) dfg dfsa 1 foam 18 o & TR F ARl & fow wiE 1w Ao & Wad §1 H/ 6
(ili) HIR A1EFHl & fRE Toh ThRIHE GHTE hl Ry |

(iv) R H T TR KA hY &THAT ST B B | T/ A

29. Identify the parenting style when it is : 2
(@) demanding, controlling, insensitive
(i) indulgent, non-demanding
e o ieh ol TEEE ST
(i) T HT, TS HE, TEA U AT
(i) T o, for fomslt /I % WTer e |

30. Classical conditioning is also known as Pavlovian conditioning. He studied stimulus - response 4
relationship. He did his experiments on dog. Based on description answer the following
questions.

(i) Identify US in Pavlovian experiment

(i) Identify UR

(iii) Identify CS

(iv) What is acquisition in this experiment ?

I TSR 1 Ulaere &1 fagia off et s €1 35 39 IR orforan & gelell 1 ererm
fopam | 38 i R tezeA ford | foawon & aner R Fefafed geii & s @

() dfocmE dAEEE § TSI IS (US) i TedTT |

(i) STeTIETYad sTgfshal (UR) Tg=T |

(ili) SATSEA IASHT (CS) S TG

(iv) 9 WA H U 1§ 2

[EIREE
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31. Answer any four out of the following :

@)
(i)

(vi)

Sarah suddenly leaves her home and starts living in another city with a new identity
and with no memory from her past. Identify the disorder.

Ankit is extremely rigid when it comes to wearing shirts. He is withdrawn, does not
smile and has delayed language development. Identify the disorder of Ankit.

Kumar would often be seen talking to himself. On questioning he would say that these
were people whom he could see and hear. Identify the disorder.

Arnav is 8 year old boy. His parents are worried about his lack of paying attention in
class. He is always distracted during lesson. Identify the disorder of Arnav.

Building good and working relation with client in psychotherapy is known as

Step comes when sessions have yielded the desired outcome is known as

=1 ° 9 fordi a1 S i

@)

(i)

(iii)

YRT 3T 3T =R Bt T IR H &1 IE Hdl ¢ | 98 Teh 78 UgaH st & o gdf
T I Wi el § 1 FAIFGTRR St TgaH hifad |

I Y& HY 3ifohd aIgd T SA9eR W&l § | 98 Ueh YHIC/Uehidiya/STaHISh § Sl faesphd
T TERACT T R 9T HEdr §1 3ifRd % AifaeR @l qeent |

PR Tl TR T 9 § 910 L g <@ M &1 I9 W FAR Fgdl § 6 o8 Gh
M-I ©S TN ol T@-G Tohdl & | HAAIGRR I T8 |

3D ek 313 WA o AASH! &1 ST HIAT-TId1 SHb el | &4 T2 27 & ol feifqa wa
B T THT SHIM SHHT A Whdl § | SRA9 fohd THIfgeR & difed €2

TITaferean o Jarfefll & st iR fopamsiiar Heiy smm AT 7 |

Tgre S difsd gRomEl S wifid & 91g ST E 1 heAdl § |

32. Answer any four of the following :

v

1

~"

(
(iii)
(iv)
(v)

(vi)

Give one example of self report measure of personality.

In this type of measure of personality has unstructured or ambiguous stimuli.
This measure of personality came into light during second world war.
Vocational interest Test are Pen and Paper Test. True/False

Which perspective identifies personality as extraversion and introversion ?
Which perspective of personality was given by Sigmund Freud ?

forsl 9 &1 S i

67/0S/1-222-A ] 13 Z [ Contd..

fericel & TAS0Id HTeh ohl ohis Teh ST SIS |

T YR & Afekicel GO0 § STHIT I 30T LTk o1 TN T3 STan 2
focd o IE A (gd1d fova g o 999 Tl | 3T |

eI B e wrTe-shed (UfEe) Tderr B €1 9w/ e
HH-H1 IRUeT fea Fl Siaie 3k aerE! & H0 H Jgard 2
ARt o1 -1 IRUeT fame wre 3 foam or?
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SECTION - B/ @Us - @

33. Explain behavioural approach to understand psychological processes. 2

g FfRA1ST ol THEH i HAGRATE! SUNTH i ST HIfT |

34. What is Udana - The faculty of thinking ? 2
SeA (o ewan) Tl wed €72

35. Define social cognition. 2
GrATfSTR WA shi g s

36. Explain the concept of ‘Attention’. 2

‘31U’ S HeheUdl shi AT iU |

37. List any two functions of an attitude. 2
AT (attitude) o for=l <1 sl =1 fafaw |
38. What are field experiments ? 2
&5 WA R E ?
39. (i) Each and every person is a combination of three gunas. Justify the statement. 3
R Afa A= O A GASH B 1 A 1 sl fag it
OR / 31941

(i) Explain levels of consciousness according to Sri Aurobindo.
gt SR o STTUR, AT Tl TR ARG hiTeIC |

40. Describe the relevant variable under experimental method. 3

TN 3191 § &I = bl AU il |

41. Describe the characteristics of middle adulthood. 3
TIGTaTeN o T&IUN <l JUM hifTd |
42. Identify some indicators of poor mental health. 3
THASIR HHHP T o &0 Sy |
43. (i) Describe the three component of an attitude. 3
A (attitude) o I T8 I FUH HITT
OR / et

(i) Explain the three important factors that help to bring about attitude change.
sifugfa afterdd o fR=l i Teerqul Sehl sl =mea i |
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44.

45.

46.

47.

48.

‘Human subjugated to Nature’. Explain this view as human-environmental relationship.

‘gepfd & S1HfF WME’ | AHE-9REw & HeHl Tl THEH a1l 59 Sieehl Sl SATEAT hitT |
OR / et

Explain the symbiotic relationship between human and Nature.

Thid SR IFE & o GEsiet-Hey 91 7 ?

Describe Vijnanmaya Kosh - The intellectual sheath.

fa T IS - Slifgeh STeL0T T Ui hifSTu |
OR / 3terar

Explain Aurobindo perspective on level of consciousness.

SRR o STTIR a1 o Wi ohl ST IS |

Suggest some strategies to maintain good mental health and hygiene.

3T AMTAh Teed 3R Twdl 1 ST WA o faIe e Feitaal Gy |
OR / 31T

What do you understand by the term health ? Differentiate between mental ill-health
and mental illness.

e SIec W 31T 1 WHEAA © 7 AR STEerEerd 37 qHfees I H o1 3ia) Bidm & ?

How one can remain healthy during old age ? Discuss.

FSTaE H XY i TGl 5T Hehal § 2 Tl il |

Describe Maslow’s hierarchy of Needs.

T R FfquTfea STevaehdiel o YSTIshH 1 FUM hifad |
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